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All Students Take Calculus

) A of-(x,y) ay Jiag g (4gaia Jsb) “modulus” or “absolute”  oubiall awy r kil Cial
(r cos 8, r sin @) polar coordinates 4kl 43dlsa) g (x, y) 4l ASlilaa) ; hil) Chuad Aaia g

g () Ayl — Bl Aygl) ulb iy @ Cun ) Ay VI gL (B O, @ o KBS



=a ; Qi):8=m-a ; Qii):6=n+a ; Q(iv):8=2nr-a
or Q(i):8=a ; Q(i):0=n-a ; Qii):0=a-n ; Q(iv): 8 =-a

Fundamental Trigonometric Identities

Syl mem o (07 Aid Bk ) bt Gl
1 1 . _sin@ _cos@
tan @ —mcy cot @ = 76 ; tan@ = 50 - cot @ = Fow
_ ! 1
sece—cosec) Cose_sece ; csc e—sin9© sin @ = -y
cos’@ +sin’@ =1 , 1+ tan’6 = sec , cot’@ +1 = csc?6: augeliwll anlhibl
: dag\P\ canig casup d\ digdall

sin268 = 2sin@ cos @ < sin@ cos @ = %sin 20

example (1) :sin 100 = 2 sin 560 cos 56 example (2) :sin 36 cos 36 = %sin 66
c0s 20 = c0s* @ — sin*@ |= | cos20 =1-2sin*@ | and | cos 20 = 2cos* 6 -1
4 il cos? 0=1(1€B cos 20)
sin 0—5(1—005 20) 2
1 1
Elainl _ T = F 2 i
example (1) :sin® 120 = 3 (1 cos 249) example (2) 11605° (16, \= 5 (1 ® cos 149)

:Gisgl) )99 Equden Olay\hin
sin(A+£B) =sin(A) cos(B) £ cos(A) sin(B) ; cos(AxB) =cos(A)cos(B) F sin(A) sin(B)
tan(A) £ tan(B)

tan(A £ B) =
lxtan(A)tan(B)
: (ol ) au-glg dusyall lgudl uplos-
csc(- x ) =- csc x (odd) tan(- x) = - tan x (odd) sin(- x) =-sinx (odd)
cot(- x)=-cotx (odd) sec(-x ) =secx (even) cos (- x) = cos X (even)

Supl sas as W\ o)L\ : €S-\ uplgs-
sin(rr —6) =sin@ ; sin(rr # 6) =—-sin@ ; sin(21r —6) =—sin@

sin(%—6j=cose ;sin(%+6j=+cose; 005(37"+6J=+sin6 I

894l Jobo Jiai T & Period T :sin(wG)Orcos(wG)—>T —%’ tan(wG)Orcot(wG)eT =T
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